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BIOLOGY FORM 3
TIME: 1½HRS

1. Give a reason why a diet consisting of maize with cabbage over a long period of time may lead to kwashiorkor in children.						(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
2. A person of blood group O requires blood transfusion. Name all the possible blood group of the would be donors.							(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
3. State the functions of the following structures in a cell.			(1mk)

a. Lysosomes
....................................................................................................................................................................................
....................................................................................................................................................................................
b. Nucleolus
....................................................................................................................................................................................
....................................................................................................................................................................................
4. State the differences between the circulatory system in members of the class mammalian and that of class insect.						(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
5. The diagram below represents an experiment that was set to investigate a certain process.









a. Name the process that was being investigated.					(1mk)

....................................................................................................................................................................................
b. Account for the swelling in diagram (ii) above.					(2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
6. State how the tracheal system in insect is adapted for gaseous exchange.	(3mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
7. Name the basis unit organization in living things.				(1mk)

....................................................................................................................................................................................
8. The diagram below represents a moss plant.















a. Name the kingdom and division to which the above specimen belongs.	(2mks)

Kingdom...................................................................................................................................................................

Division.....................................................................................................................................................................

b. Name the parts labeled A, B, C							(3mks)

A...................................................................................................................................................................................

B................................................................................................................................................................................

C.................................................................................................................................................................................

c. State the function of the part labeled.						(2mks)

A....................................................................................................................................................................................
....................................................................................................................................................................................
B....................................................................................................................................................................................
....................................................................................................................................................................................
8. Explain what would happen to red blood cells if they were placed in distilled water.											(2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
9. Below is a list of deficiency symptom
· Excessive bleeding
· Soft and brittle bones in adults
· Pernicious anemia
· Abnormal bone formation
· Sterility in some animals

From the list of deficiency symptoms provided, choose the list of deficiency symptom and match it with the appropriate vitamins in the table below.

Vitamins				Deficiency symptom
	Calciferol 
Vitamin A
	

	Phylloquinone
 Vitamin K
	

	Cobalamine 
Vitamin B
	



10. What is the Biological principle behind the following methods of malaria control?
a. Spreading oil on stagnant water							(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
b. Intake of anti-malaria drugs

....................................................................................................................................................................................
....................................................................................................................................................................................
11. The figure below represents a transverse section from a plant.









a. From which part of plant was the specimen obtained?				(1mk)
....................................................................................................................................................................................
b. Using observable features give 2 reasons for your answer above.		
....................................................................................................................................................................................
....................................................................................................................................................................................
C. State the functions of parts of parts labeled A and B.				(2mks)
A....................................................................................................................................................................................
B....................................................................................................................................................................................
12. Some sugar was detected in the urine of a patient during a laboratory test. 
a. Name the sugar detected in the urine.						(1mk)

....................................................................................................................................................................................
b. Name the hormone likely to be deficient in the patient.			(1mk)

....................................................................................................................................................................................
c. Name the disease the patient is likely to suffer from.				(1mk)

....................................................................................................................................................................................
13. In an experiment to investigate an aspect of digestion, two test tubes, A and B were set up as shown in the diagram below.








The test tubes were left in the water both for 30 minutes. The content of each test tube was then tested for starch using iodine solution.

a. What was the aim of experiment?						(2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
b. What results were expected in test tube A and B?				(2mks)

A....................................................................................................................................................................................
B....................................................................................................................................................................................
c. Account for the results you have given in (b) above in test tube A and B.	(2mks)

A....................................................................................................................................................................................
B....................................................................................................................................................................................
d. Why was the set up left at 370C.
....................................................................................................................................................................................
....................................................................................................................................................................................
14. Name any 3 kingdoms under which living organisms are classified.		(3mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
15. Compare class dicotyledonae and monocotyledonae using the following subtitles.

	Subtitle
	Dicotyledonae
	Monocotyledonae

	Venation
	


	


	Arrangement of vascular bundles in cross-section of the stem
	
	

	Floral parts
	


	

	Root system
	


	

	Vascular cambium
	


	




16. State two ways in which some fungi are harmful to man.			(2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
17. In microscopy experiment, a student peeled off the epidermis from the lower epidermis of a dicotyledonous leaf. She mounted the portion of the epidermis on a drop of water on a microscope glass slide, then stained with methane blue. She then covered with a cover slip. She observed the slide preparation under low power then medium power. Finally she observed under high power and counted the number of stomata under field of view. Repeated the counting of the stomata twice, each time moving the slide to another field of view and recording the number of stomata observed.

The objective lens f the microscope was marked as follows X4, X40 and X10. While the ocular lens was marked X15. The results are shown in the table below.

	
	Number of stomata in each field of view

	Field of view
	Lower epidermis
	Upper epidermis

	1
	28
	13

	2
	32
	12

	3
	32
	13

	Average number of stomata
	
	



a. Calculate the average number of stomata in upper and lower epidermis and record your results in the table above. Show your working.				(2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
b. Give a reason for each of the following steps.

i. Mounting the epidermis on a drop of water.					(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
ii. Staining the specimen.								(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
iii. Covering the specimen with a cover slip on the slide.				(1mk)

....................................................................................................................................................................................
....................................................................................................................................................................................
c. Calculate the magnification at which the student obtained the results above. (2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
d. Account for the average number of stomata on each side of the leaf epidermis. (2mks)

....................................................................................................................................................................................
....................................................................................................................................................................................
18. The table below shows the concentration of sodium and iodine ions in pond water and in cell sap of an aquatic plant.

	Concentration of mineral ions

	Mineral ion
	120.00
	70.00

	Sodium iodine
	0.20
	400.0



i. Suggest the process through which each of the ions is taken. Give your reasons. (4mks)

	Ion
	Process
	Reasons

	Sodium





	
	

	Iodine







	
	



ii. Which ion would cease to be taken up if the plant is treated with metabolic poison that inhibits ATD synthesize. Explain.

.............................................................................................................................................................................................................................................................................................................................................................................
....................................................................................................................................................................................
19. Blood enclosed in blood vessels does not normally clot. Explain.

....................................................................................................................................................................................
....................................................................................................................................................................................



1

